

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SLP 3801J

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	AIRBAG ECU	ACTIVATED	\$1,177.60	\$1,177.60
1	AIRCON CONDENSER	BENT	\$877.60	\$877.60
1	AIRCON CONDENSER ALUMINIUM PIPE	NOT NECESSARY	\$301.40	\$0.00
1	AIRCON CONDENSER DISCHARGE PIPE	NOT NECESSARY	\$288.70	\$0.00
1	AIRCON CONDENSER FAN BLADE	NOT NECESSARY	\$88.70	\$0.00
1	AIRCON CONDENSER FAN COWLING	NOT NECESSARY	\$166.70	\$0.00
1	AIRCON CONDENSER FAN MOTOR	NOT NECESSARY	\$341.10	\$0.00
2	CENTER PILLAR INNER GARNISH L/R @\$101.40	NOT NECESSARY	\$202.80	\$0.00
1	DASHBOARD	TORN	\$865.00	\$865.00
1	DASHBOARD AIRCON PANEL	NOT NECESSARY	\$464.70	\$0.00
1	ENGINE UNDER COVER	DEFORMED	\$198.00	\$198.00
1	FLOOR PANEL CARPET	NOT NECESSARY	\$1,010.00	\$0.00
1	FRONT AIR DUCT	NOT NECESSARY	\$87.10	\$0.00
1	FRONT BATTERY BRACKET	NOT NECESSARY	\$90.00	\$0.00
1	FRONT BATTERY TRAY	DEFORMED	\$95.00	\$95.00
1	FRONT BONNET	DENTED	\$638.10	\$638.10
2	FRONT BONNET HINGES L/R @\$61.70	NOT NECESSARY	\$123.40	\$0.00
1	FRONT BONNET INNER CENTER RUBBER SEAL	NOT NECESSARY	\$38.20	\$0.00
1	FRONT BONNET INNER TOP RUBBER SEAL	NOT NECESSARY	\$45.10	\$0.00
1	FRONT BONNET INSULATOR	NOT NECESSARY	\$155.90	\$0.00
1	FRONT BONNET MECHANISM LOCK	DAMAGED	\$133.40	\$133.40
1	FRONT BUMPER	DISTORTED	\$863.40	\$688.00
2	FRONT BUMPER FOGLAMP GARNISH L/R @\$65.30	NOT NECESSARY	\$130.60	\$0.00
1	FRONT BUMPER LOWER GRILLE	DEFORMED	\$150.00	\$150.00
1	FRONT BUMPER REINFORCEMENT	DENTED	\$533.80	\$297.00
2	FRONT BUMPER SIDE RETAINER L/R @\$35.90	NOT NECESSARY	\$71.80	\$0.00
2	FRONT FENDER INNER BRACKET L/R @\$66.70	NOT NECESSARY	\$133.40	\$0.00
2	FRONT FENDER INNER SHIELD L/R @\$155.70	N/S TORN	\$311.40	\$155.70
2	FRONT FENDER INNER TOP GARNISH L/R @\$66.80	NOT NECESSARY	\$133.60	\$0.00
2	FRONT FENDER L/R @\$571.40	N/S DISTORTED	\$1,142.80	\$571.40



	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	FRONT FENDER SIGNAL LAMP L/R @\$58.70	NOT NECESSARY	\$117.40	\$0.00
1	FRONT GRILLE 'LOGO' EMBLEM	NECESSARY	\$48.10	\$48.10
1	FRONT GRILLE (BASE)	MISSING	\$301.40	\$301.40
1	FRONT GRILLE OUTER CHROME COVER	MISSING	\$328.40	\$328.40
1	FRONT GRILLE TOP GARNISH	DEFORMED	\$65.70	\$65.70
2	FRONT HEADLAMP (HID) L/R @\$925.70	CRACKED	\$1,851.40	\$1,851.40
2	FRONT HEADLAMP LOWER BRACKET L/R @\$45.10	CRACKED	\$90.20	\$90.20
1	FRONT LH CHASSIS OUTER BRACKET	BENT	\$66.70	\$66.70
1	FRONT LH CHASSIS SIDE MEMBER (INNER)	BUCKLED	\$201.40	\$201.40
1	FRONT LH CHASSIS SIDE MEMBER (OUTER)	BUCKLED	\$188.70	\$188.70
1	FRONT LH FENDER INNER ARCH PANEL (INNER)	BUCKLED	\$188.70	\$188.70
1	FRONT LH FENDER INNER ARCH PANEL (OUTER)	BUCKLED	\$201.40	\$201.40
1	FRONT LH PASSENGER AIRBAG	ACTIVATED	\$2,236.80	\$2,236.80
1	FRONT RESONATOR ASSY	CRACKED	\$298.00	\$298.00
2	FRONT SEAT BELT L/R @\$876.70	ACTIVATED	\$1,753.40	\$1,753.40
1	FRONT STEERING AIRBAG	ACTIVATED	\$2,111.40	\$2,111.40
1	FRONT STEERING CLOCK SPRING SENSOR	ACTIVATED	\$501.40	\$501.40
1	FRONT SUPPORT PANEL	BUCKLED	\$526.70	\$526.70
1	FRONT WINDSCREEN	сит	\$1,010.00	\$1,010.00
1	FRONT WINDSCREEN MOULDING	NECESSARY	\$198.00	\$198.00
1	RADIATOR	DENTED	\$1,011.40	\$1,011.40
1	RADIATOR FAN BLADE	NOT NECESSARY	\$88.70	\$0.00
1	RADIATOR FAN COWLING	CRACKED	\$155.70	\$155.70
1	RADIATOR FAN MOTOR	NOT NECESSARY	\$322.40	\$0.00
1	RADIATOR SPARE TANK	DEFORMED	\$105.00	\$105.00
1	RADIATOR TOP HOSE	NOT NECESSARY	\$38.70	\$0.00
2	REAR BODY EXTENSION L/R @\$690.00	TO REPAIR SEE LABOUR	\$1,380.00	\$0.00
1	REAR BUMPER	DISTORTED	\$767.60	\$680.00
2	REAR BUMPER LOWER BRACKET L/R @\$28.90	BENT	\$57.80	\$57.80
2	REAR BUMPER SIDE RETAINER L/R @\$38.30	CRACKED	\$76.60	\$76.60
1	REAR BUMPER TOW HOOK COVER	DEFORMED	\$31.40	\$31.40



	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR END PANEL	DISTORTED	\$511.40	\$511.40
1	REAR END PANEL INNER TOP GARNISH	DEFORMED	\$101.40	\$101.40
1	REAR EXHAUST CHROME TAIL PIPE	BENT	\$103.60	\$103.60
1	REAR EXHAUST HEAT COVER	CRUMPLED	\$101.70	\$101.70
2	REAR EXHAUST RUBBER MOUNTING @\$35.40	NOT NECESSARY	\$70.80	\$0.00
1	REAR EXHAUST SILENCER BOX	BENT	\$458.70	\$458.70
2	REAR FENDER INNER TRIM BOARD L/R @\$405.00	CRACKED	\$810.00	\$810.00
1	REAR FLOOR PANEL	BUCKLED	\$871.40	\$871.40
1	REAR FLOOR PANEL CARPET	DEFORMED	\$205.00	\$205.00
2	REAR FLOOR PANEL TOP BOARD COVER L/R @\$201.40	STAINED	\$402.80	\$402.80
2	REAR FLOOR SIDE TOP PANEL L/R @\$258.40	N/S TO REPAIR SEE LABOUR / O/S BUCKLED	\$516.80	\$258.40
1	REAR LH DOOR	DENTED	\$767.60	\$767.60
1	REAR LH DOOR BLACK TAPE	NECESSARY	\$48.70	\$48.70
1	REAR LH DOOR INNER TRIM BOARD	NOT NECESSARY	\$401.40	\$0.00
1	REAR LH DOOR MECHANISM LOCK	DAMAGED	\$301.40	\$301.40
1	REAR LH DOOR WEATHER STRIP	NOT NECESSARY	\$155.40	\$0.00
1	REAR LH FENDER	BUCKLED	\$744.70	\$744.70
1	REAR LH FENDER GLASS MOULDING	NECESSARY	\$105.00	\$105.00
1	REAR LH FENDER INNER AIR VENT	CRACKED	\$66.70	\$66.70
1	REAR SPARE TYRE CARRIAGE	NOT NECESSARY	\$235.40	\$0.00
1	REAR SPARE TYRE CARRIAGE BRACKET	NOT NECESSARY	\$50.00	\$0.00
1	REAR SPARE TYRE CARRIAGE SCREW	NOT NECESSARY	\$45.00	\$0.00
1	REAR TAILGATE	DENTED	\$1,004.70	\$903.00
1	REAR TAILGATE 'LOGO' EMBLEM	NECESSARY	\$58.70	\$58.70
2	REAR TAILGATE DAMPER L/R @\$168.70	NOT NECESSARY	\$337.40	\$0.00
2	REAR TAILGATE HINGES L/R @\$101.40	NOT NECESSARY	\$202.80	\$0.00
1	REAR TAILGATE INNER PULL HANDLE	DEFORMED	\$58.30	\$58.30
2	REAR TAILGATE INNER RUBBER STOPPER L/R @\$18.90	NOT NECESSARY	\$37.80	\$0.00
1	REAR TAILGATE INNER TRIM BOARD	CRACKED	\$400.00	\$400.00
1	REAR TAILGATE MECHANISM LOCK	JAMMED	\$201.40	\$201.40
1	REAR TAILGATE OUTER GARNISH	CRACKED	\$280.00	\$280.00



	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	REAR TAILGATE WEATHER STRIP	CUT	\$296.00	\$296.00	
1	REAR TAILGATE WINDSCREEN MOULDING	NECESSARY	\$169.00	\$169.00	
2	REAR TAILLAMP INNER PANEL L/R @\$188.40	BUCKLED	\$376.80	\$376.80	
2	REAR TAILLAMP L/R @\$398.00	CRACKED	\$796.00	\$796.00	
1	REAR THIRD SEAT GARNISH	DEFORMED	\$265.90	\$265.90	
2	REAR THIRD SEAT L/R @\$1350.00	NOT NECESSARY	\$2,700.00	\$0.00	
1	ROOF TOP PANEL	TO REPAIR SEE LABOUR	\$1,028.00	\$0.00	
2	ROOF TOP SIDE MOULDING L/R @\$395.00	CUT	\$790.00	\$790.00	
	LESS 20.00% DISCOUNT		(\$8,651.50)	(\$6,117.22)	
			\$34,606.00	\$24,468.88	

	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	SET DASHBOARD RADIO (SN)	DAMAGED	\$1,800.00	\$800.00	
1	FRONT BATTERY (SN)	NOT NECESSARY	\$280.00	\$0.00	
1	SET FRONT BONNET INSULATOR CLIPS (SN)	NECESSARY	\$50.00	\$30.00	
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	\$80.00	\$30.00	
1	FRONT BUMPER NUMBER PLATE (SN)	DENTED	\$25.00	\$25.00	
1	FRONT BUMPER NUMBER PLATE HOLDER (SN)	NOT NECESSARY	\$50.00	\$0.00	
2	SET FRONT FENDER INNER SHIELD CLIPS L/R @\$50.00 (SN)	NECESSARY	\$100.00	\$30.00	
2	SET FRONT FENDER INNER TOP GARNISH CLIPS L/R @\$30.00 (SN)	NOT NECESSARY	\$60.00	\$0.00	
1	SET FRONT GRILLE CLIPS (SN)	NECESSARY	\$40.00	\$20.00	
1	FRONT RH SEAT (SN)	NOT NECESSARY	\$1,680.00	\$0.00	
1	FRONT WINDSCREEN SEALANT (SN)	NECESSARY	\$80.00	\$60.00	
1	RADIATOR COOLANT (SN)	NECESSARY	\$80.00	\$40.00	
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	\$80.00	\$30.00	
1	SET REAR BUMPER REVERSE SENSOR (4 EYES) (SN)	DAMAGED	\$320.00	\$200.00	
1	SET REAR END PANEL INNER TOP GARNISH CLIPS (SN)	NECESSARY	\$40.00	\$20.00	
2	SET REAR FENDER INNER TRIM BOARD CLIPS L/R @\$50.00 (SN)	NECESSARY	\$100.00	\$60.00	
1	REAR FLOOR PANEL INSULATOR MAT (SN)	NECESSARY	\$300.00	\$200.00	
1	SET REAR LH DOOR INNER TRIM BOARD CLIPS (SN)	NOT NECESSARY	\$50.00	\$0.00	



	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	REAR LH FENDER GLASS SEALANT (SN)	NECESSARY	\$60.00	\$40.00	
1	SET REAR TAILGATE INNER TRIM BOARD CLIPS (SN)	NECESSARY	\$50.00	\$30.00	
1	SET REAR TAILGATE OUTER GARNISH CLIPS (SN)	NECESSARY	\$40.00	\$20.00	
1	REAR TAILGATE REVERSE CAMERA (SN)	NOT NECESSARY	\$600.00	\$0.00	
1	REAR TAILGATE WINDSCREEN SEALANT (SN)	NECESSARY	\$80.00	\$60.00	
2	SET REAR TAILLAMP CLIPS L/R @\$25.00 (SN)	NOT NECESSARY	\$50.00	\$0.00	
1	ROOF TOP COMPARTMENT BOX ASSY (SN)	CRACKED	\$1,950.00	\$1,400.00	
			\$8,045.00	\$3,095.00	

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
TO REMOVE, CHANGE AIR CON PARTS, VACUUMS, REFILL AIR CON GAS		\$150.00	\$60.00	
TO REMOVE, REINSTALL ELECTRICAL WIRING HARNESS, CHECK LIGHTING AND RESETTING HEADLAMP FOCUSSING. (TO FR)		\$80.00	\$30.00	
TO REMOVE, CHANGE AIR BAG, AIR-BAG SENSOR, AIR-BAG WIRE AND RESETTING SYSTEM		\$350.00	\$280.00	
TO RESET SYSTEM AFTER REPAIR WORKS	NOT NECESSARY	\$500.00	\$0.00	
TO REMOVE, REINSTALL ELECTRICAL WIRING HARNESS, CHECK LIGHTING AND REWIRE FOR PARKING SENSOR		\$80.00	\$80.00	
TO REMOVE, CHANGE WINDSCREEN. (FRONT)		\$150.00	\$120.00	
TO REMOVE, REINSTALL TAILGATE WINDSCREEN		\$150.00	\$120.00	
TO REMOVE, REINSTALL FENDER GLASS		\$150.00	\$60.00	
TO REMOVE, REINSTALL ROOF TOP TRIM UPHOLSTERY, CUSHION SEAT, TRIM GARNISH, TRIM LINER CARPET. (TO FR)		\$180.00	\$100.00	
TO TRANSFER DOOR GLASS, REGULATOR GEAR, MOTOR, RAILING, CHANNEL, TRIM BOARD, MECHANISM LOCK AND HANDLE		\$80.00	\$60.00	
TO REMOVE, CHANGE DASHBOARD FASCIA AND TRANSFER WHERE NECESSARY		\$400.00	\$250.00	
TO RE-SPRAY PAINTING ON THE REAR BOOTLID, REAR END PANEL, REAR FENDER (L/R), SPARE TYRE PANEL, REAR BUMPER, REAR DOORS (L/R), AND ROOF TOP PANEL		\$1,800.00	\$1,600.00	
TO RE-SPRAY PAINTING ON THE FRONT BONNET, FRONT SUPPORT PANEL, FRONT FENDER (L/R), FRONT BUMPER AND FRONT DOORS (L/R)		\$2,000.00	\$1,000.00	
TO REMOVE AND CHANGE EXHAUST SILENCER BOX WITH PIPE, RE-ALIGN WHERE NECESSARY CONSISTENT TO THE ACCIDENT		\$100.00	\$60.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labo	ur		
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
TO PROVIDE LABOUR, WORKMANSHIP TO CHANGE THE ABOVE DAMAGED BODYPARTS, REPAIR, RE-CONSTRUCT AND RE-ALIGN BODY STRUCTURE, BODY ALIGNMENTS AND DAMAGED CONSISTENT TO THE ACCIDENT. INCLUSIVE OF THE REPAIR OF REAR BODY EXTENSION L/R, REAR FLOOR SIDE TOP PANEL N/S AND ROOF TOP PANEL		\$3,400.00	\$2,800.00
TO APPLY ANTI-RUST CHEMICAL ON REPAIRED AND REPLACED PANEL		\$300.00	\$150.00
TO REMOVE, REINSTALL TAILGATE MECHANISM AND CHECK FOR FUNCTION		\$80.00	\$60.00
		\$9,950.00	\$6,830.00
GRAND TOTAL		\$52,601.00	\$34,393.88
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)			\$27,500.00
Report Ref No: CS/AGI24100054/Anp3e2			

LWP

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.